Notice for appointment of Regular / Rural Retail Outlet Dealerships

Bharat Petroleum Corporation Limited proposes to appoint Retail Outlet dealers in **West Bengal**, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dimens	ion (in M.)/Area of the s	site (in Sq. M.). *	Finance to be a applicant Lakhs)	rranged by the (Rs. in	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7	8			9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	sc	CC / DC / CFS	Frontage	Depth	Area	Estimated	Estimated fund			
					SC CC-1						required for development of	Bidding		
					SC CC-2		1				infrastructure at			
					SC PH		ł				RO			
					ST									
					ST CC-1									
					ST CC-2									
					ST PH									
					ОВС									
					OBC CC-1									
					OBC CC-2									
					ОВС РН									
					OPEN									
					OPEN CC-1									
					OPEN CC-2		1							
					OPEN PH		1							
1	Rajapur: Block, Canning on Baruipur Canning Road	South 24 Parganas	Rural	70	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
2	Upto 2.0 Km From Odlabari Chawk to Kranti Road on Right	Jalpaiguri	Rural	120	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
3	Hand Side Kadoa	Murshidabad	Rural	80	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
4	Within 2 Km of Aklakhi Bazar on Uchalan - Aklakhi Road	Purba Bardhaman	Rural	100	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
5	Lower Chisopani towards Kurseong	Darjeeling	Rural	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
6	Hamiltonganj Not on SH, Alipuduar	Alipurduar	Rural	100	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
7	Ethelbari (Not on NH)	Alipurduar	Rural	58	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
8	Nishintapur Between Karanjali And Nishintapur on NH117	South 24 Parganas	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
9	Within 5 Km From Jhalda towards Bagmundi on SH-4	Purulia	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
10	On SH-7, Kalipur More to Belibela More in Hooghly District	Hooghly	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
11	Manguria to Chasmore on NH 32	Purulia	Regular	170	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
12	Dakshin Bhuskadanga on SH-12A on Left Hand Side while going towards Chengrabanda, Jalpaiguri	Jalpaiguri	Regular	160	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
13	Nababhat to Guskara on NH 2B	Purba Bardhaman	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
14	From Brihaspatibarer Bazar to Kripa Sindhur More on PMGSY	Purba Medinipur	Rural	126	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
15	Khilkapur More to Bamangachi	North 24Parganas	Rural	72	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
16	Bodra (on Bodra - Bhangar Road)	South 24 Parganas	Rural	54	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
17	From Babalpur to Sulochana on Tamluk Srirampur Road	Purba Medinipur	Rural	130	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
18	Nayagram, Nayagram Block	Jhargram	Rural	81	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
19	Between Gocharan to Dhosa on Gocharan Dhosa Road	South 24 Parganas	Rural	54	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
20	Sitakundu (On Baruipur - Champahati Road)	South 24 Parganas	Rural	54	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
21	Talgram	Murshidabad	Rural	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
22	Debiganj - Lodhan, Block - Goalpokher	Uttar Dinajpur	Rural	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4

	1													
23	Kagram	Murshidabad			OBC	DC	30	25	750	12		Draw of Lots	5	3
24	Ghera - Churamon	Uttar Dinajpur	Rural	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
25	BiSHnupur, Block - Hemtabad	Uttar Dinajpur	Rural	65	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
26	In Khila Village in Udaynarayanpur Block in District Howrah	Howrah	Rural	42	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
27	In Dhulagari Village in Sankrail Block (Not on NH) in District	Howrah	Rural	92	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
28	Howrah Chakvrigu - Tapan Via Daralhat	Dakshin Dinajpur	Rural	65	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
29	In Jala Dhulagiri Village in Sankrail Block (Not on NH) in District				sc	CFS	30	25	750	0	0	Draw of Lots	0	2
30	Howrah Mankur More to Khajurti More	Howrah			OBC	DC	30	25	750	12	30	Draw of Lots		2
	Sadhikhandiar	Murshidabad			OPEN	DC	30	25	750	12		Draw of Lots	-	4
32	Ramkrishnapur	Murshidabad			OPEN	DC	30	25	750	12		Draw of Lots	5	4
33	Dehabandh Dehabandh	Dakshin Dinajpur			SC	CFS	30	25	750	0	0	Draw of Lots	0	2
34					OBC	DC	30	25	750	12	30		-	2
34	On Maju Road	Howrah										Draw of Lots	5	3
35	Berhampore Gramin(Govt Food Storage to Chandpukhur on Islampur Road Via Paschim Gopinathpur)	Murshidabad	Rural	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
36	On Dighruighat Road, Within 5 Km From SH2	Hooghly	Rural	80	OPEN CC 2	DC	30	25	750	12	30	Draw of Lots	5	4
37	Dhanikhali - towards Dashgarha, District Hooghly	Hooghly	Rural	46	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
38	In Village Pairagachha in Chandiatla 2 Block in Hooghly District	Hooghly	Rural	50	SC CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
39	Kharsadanga	Murshidabad	Rural	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
40	Benidaspur - Bochadanga	Murshidabad		50	OPEN	DC	30	25	750	12		Draw of Lots	5	4
41	On Pursurah-Amarpur Road	Hooghly	Rural	70	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
42	On Kumrul-Habibpur Road	Hooghly		60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
43	Paharpur	Murshidabad		60	OPEN	DC	30	25	750	12	30	Draw of Lots		4
44	Barala	Murshidabad		50	OPEN	DC	30	25	750	12		Draw of Lots	-	4
45	Binodbati on Rahimpur-Jangipara Road, Hooghly	Hooghly			OBC	DC	30	25	750	12		Draw of Lots	5	2
													,	,
46	Nurpur	Murshidabad			OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
47	Malipukur to Baruipara, Hooghly	Hooghly		-	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
48	Rautara, Karandighi Block	Uttar Dinajpur			OPEN	DC	30	25	750	12		Draw of Lots	5	4
49	Dadpur (Not on SH), Hooghly	Hooghly	Rural		OBC	DC	30	25	750	12	30	Draw of Lots	5	3
50	Chanduria	Nadia	Rural	60	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
51	On Chanda Road to Pachami Store Querry	Birbhum	Rural		SC	CFS	30	25	750	0	0	Draw of Lots	0	2
52	Rajgram to Borio(Jharkhand) Road in Tehsil Murarai I or II	Birbhum	Rural	160	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
53	Maheshail	Murshidabad	Rural	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
54	Devoke , on RHS going from Awalsidhi to Naihati	North 24Parganas	Rural	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
55	Bipratikuri	Birbhum	Rural	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
56	Majipara	Birbhum	Rural	50	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
57	Shundi Pukur, Jiban Pur	North 24Parganas	Rural	105	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
58	Chongda More to Nakpul	North 24Parganas		67	OPEN	DC	30	25	750	12		Draw of Lots	5	4
59	Tarapith	Birbhum	Rural	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
60	Murarai (Non on SH)	Birbhum	Rural	110	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
61	Berachampa to Haroa on both Sides	North 24Parganas	Rural	90	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
62	Taldi (On Taldi - Canning Road)	South 24 Parganas	Rural	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
63	Within 5 Km from Saltora Chowk towards Deuli	Bankura	Rural	75	OBC PH	DC	30	25	750	12	30	Draw of Lots	5	3
64	Lakshmisagar (Simlapal Block)	Bankura	Rural	75	SC PH	CFS	30	25	750	0	0	Draw of Lots	0	2
65	Canning (On Baruipur Canning Road)	South 24 Parganas	Rural	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
66	Jibantala(On Jibantala - Taldi Road)	South 24 Parganas		54	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
67	Sukabaid to Durgapur Barrage Via Methyali	Bankura		60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
68	Within 10 Km from Raina on Raina - SHyam Sundar Road	Purba Bardhaman	Rural	160	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
00	towards Sagrai Morr	ruiva Bardnaman	Nuidl	100	UPEN	DC.	30	25	/30	14	30	DIAM OF LOTS)	"
														1

60	Govindapur to Shibdanga More Via Bibarda	Bankura	Rural	T ₇₅	lec .	CFS	20	25	750	Io.	lo .	Draw of Late	To.	I2
09				/3	30		30	-		Ů	٥	Draw of Lots		
70	Ramnagar, on Baraipur Canning Road	South 24 Parganas	Rural		OPEN		30	25	750	12	30	Draw of Lots	5	4
71	Bhabta - Sattarpur	Murshidabad	Rural		OBC	DC	30	25	750	12	30	Draw of Lots	5	3
72	Falta Near Near Fatehpur Sarisa	South 24 Parganas	Rural		OPEN		30	25	750	12	30	Draw of Lots	5	4
73	Barjora to Ghutgoria (On Barjora Durlavpur Road)	Bankura	Rural	175	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
74	Chakaltor to Gorsai Via Suklara	Purulia	Rural		OBC	DC	30	25	750	12	30	Draw of Lots	5	3
75	Vill Kalicharanpur, Mauja - Krishnarampur near Roychak	South 24 Parganas	Rural	30	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
76	Sahebnagar - Binodpur	Murshidabad	Rural	50	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
77	Sahebnagar - Bahadurpur	Murshidabad	Rural	45	ОВС	DC	30	25	750	12	30	Draw of Lots	5	3
78	Kazisaha to Manik Nagar on Beldanga Amtala Road	Murshidabad	Rural	75	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
79	Buita Near Budge Budge on K P Mondal Road	South 24 Parganas	Rural	155	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
80	RHS on RatneSHwarpur from Dola to Polerhat Road	South 24 Parganas	Rural	95	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
81	Krishnapur - Ramchandrapur	Murshidabad	Rural	50	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
82	Ahiron - Rajgram Road	Murshidabad	Rural		sc		30	25	750	0	0	Draw of Lots	0	2
83	Unsani on Unsani Road from Kona Expressway Crossing	Howrah	Rural		OPEN		30	25	750	12	30	Draw of Lots	5	4
	towards Andul Road											1		
84	In Village Belmuri in Dhaniakhali Block in Hooghly District	Hooghly	Rural	52	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
85	Within 4 Km of Chapadanga Crossing on Pursurah-	Hooghly	Rural	76	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
86	Udavnarvannur Road Sagardighi	Murshidabad	Rural	70	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
87	Sherpur More - Sadal	Murshidabad	Rural	50	SC CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
88	Aurangabad	Murshidabad	Rural	50	OPEN PH	DC	30	25	750	12	30	Draw of Lots	5	4
89	Solpara, Goalpokher 1 Block , on Solpara - Rasakhowa Road	Uttar Dinajpur	Rural	90	ОВС	DC	30	25	750	12	30	Draw of Lots	5	3
90	In Village Gangadharpur in Chanditala 1 Block in District	Hooghly	Rural	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
91	Hooghly Raniganj (on Bagela - Chakulia Road)	Uttar Dinajpur	Rural	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
92	Between Helan Bazar Bus Stop & Harua High School on	Hooghly	Rural		OPEN		30	25		12	30	Draw of Lots	5	4
	Pursurah Chatrasal Road											İ	ı	!
93	Shyampur, Block - Itahar	Uttar Dinajpur	Rural	75	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
94	Rajdharpara	Murshidabad	Rural	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
95	Belpahari, Binpur 2 Block	Jhargram	Rural	72	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
96	Maharajahat, Block - Raiganj	Uttar Dinajpur	Rural	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
97	Sherpur - Khalsi, Block - Raiganj	Uttar Dinajpur	Rural	65	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
98	Raninagar (In Raninagar 2 Block)	Murshidabad	Rural	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
99	Surun, Block - Itahar	Uttar Dinajpur	Rural		OPEN CC 1		30	25	750	12	30	Draw of Lots	5	4
100	Runia - Jagadishpur, Block - Raiganj	Uttar Dinajpur	Rural		SC	CFS	30	25	750	0	0	Draw of Lots	0	2
101	Mustafanagar - Tarangapur, Block - Kaliyaganj	Uttar Dinajpur	Rural		OBC	DC	30	25	750	12	30	Draw of Lots	5	3
102	Dhaparia , on LHS Going From Dhanonjaypur to Matchpota	Nadia	Rural	116	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
103	Agradwip Ghat Road from Debogram to Agradwip Ghat	Nadia	Rural	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
104	Lakhipur, Block - Chopra	Uttar Dinajpur	Rural	65	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
105	Anantapur, Block - Raiganj	Uttar Dinajpur	Rural	70	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
106	Habibpur to Balagarh Road	Nadia	Rural	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
107	Arshigunj to Palashipara	Nadia	Rural	79	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
108	Noada(On Kaliyaganj Road), Block - Kaliyaganj	Uttar Dinajpur	Rural	50	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
109	Bangalbari, Block - Hemtabad	Uttar Dinajpur	Rural	60	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
110	Within 8Km of Jubilee More to Panuria on Asansol Gaurandi	Paschim Bardhaman	Rural	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
111	Road Kuldia Village on Muchipara to Malandighi Road	Paschim Bardhaman	Rural	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
112	Gulandar, Block Itahar	Uttar Dinajpur	Rural	75	OBC		30	25	750	12	30	Draw of Lots	5	3
113	·	-				CFS		25	750	<u> </u>		Draw of Lots	-	
113	Birghai, Block - Raiganj	Uttar Dinajpur	Rural	65	sc		30							

	T					r .					I			
114	Barabani Rail Gate to totarama More	Paschim Bardhaman	Rural		OPEN	DC	30	25	750	12		Draw of Lots	5	4
115	Bhatol, Block - Raiganj	Uttar Dinajpur	Rural		OBC	DC	30	25	750	12		Draw of Lots	5	3
116	Kanchdahari, Garhbeta 3 Block	Paschim Medinipur	Rural	58	OPEN	DC	30	25	750	12		Draw of Lots	5	4
117	Domhani to Jamuria Road	Paschim Bardhaman	Rural	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
118	Porsa, Block - Itahar	Uttar Dinajpur	Rural	75	sc	CFS	30	25	750	0	0	Draw of Lots	0	2
119	Kunore, Block - Kaliyaganj	Uttar Dinajpur	Rural	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
120	Within 5Km of Gopalmath towards Mankar on Gopalmath-	Purba Bardhaman	Rural	57	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
121	Mankar Road Sabalpur - Panchthupi	Murshidabad	Rural	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
122	Sahebghata, Dist - Uttar Dinajpur	Uttar Dinajpur	Rural	65	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
123	Subhashganj, Block - Raiganj	Uttar Dinajpur	Rural	65	ОВС	DC	30	25	750	12	30	Draw of Lots	5	3
124	Within 10 Km From Guskara on Guskara - Nutanhat Road	Purba Bardhaman	Rural	65	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
125	Between Ambari & Hathimore, Jalpaiguri	Jalpaiguri	Rural	94	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
126	Sahudangimore to Gandar More, Eastern Bypass	Jalpaiguri	Rural	128	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
127	Champarsari More to Debidanga	Darjeeling	Rural		SC	CFS	20	20	400	0	0	Draw of Lots	0	2
128	Bolpur to Nutanhat Bridge on Bolpur - Palitpur Road	Birbhum	Rural	98	OPEN	DC	30	25	750	12		Draw of Lots	5	4
129	From Sian Bus Stop to Nanoor on Nanoor - Chandidas Road	Birbhum	Rural	85	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
130	Jamalpur	Purba Bardhaman	Rural	80	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
131	Srirampur	Malda	Rural	50	sc	CFS	30	25	750	0	0	Draw of Lots	0	2
132	Phulpahari on Raipur Harinsingha Road	Birbhum	Rural	154	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
133	Murarai to Raghunathganj on RHS	Birbhum	Rural	150	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
134	Salsalbari (Not on NH)	Alipurduar	Rural	40	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
135	Kamraghat	Birbhum	Rural	62	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
136	Dakshin Latabari	Jalpaiguri	Rural	40	SC CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
137	Nishiganj not on SH, Coochbehar	Coochbehar	Rural	90	OPEN CC 2	DC	30	25	750	12	30	Draw of Lots	5	4
138	Upto 7.00 Km from Dinhata Chowpatti towards Ghughumari on Main Road on LHS, Coochbehar	Coochbehar	Rural	100	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
139	Nalhati to Bahadurpur Via Rampur	Birbhum	Rural	208	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
140	Mekhiliganj, Coochbehar	Coochbehar	Rural	90	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
141	Chandamari	Coochbehar	Rural	50	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
142	On Saldabra - Mollarpur Road	Birbhum	Rural	110	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
143	Indas to Kotulpur Via Tentulmuri Within 10Km from	Bankura	Rural	73	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
144	Satvapeeth Tala More Pachagarh	Coochbehar	Rural	40	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
145	Madhya Marichbari (Within 2 Km from Marichbari Kholta	Coochbehar	Rural	40	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
146	Gram Panchayat) Within 7 Kms from Kharbona towards Kamalpur	Bankura	Rural	69	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
	·													-
147	Kustal More to Rampur	Bankura	Rural	84	OPEN	DC	30	25	750	12		Draw of Lots	5	4
148	Baxirhat (Not on NH)	Coochbehar	Rural	35	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
149	Between Ranirhat & Jaldhaka Bridge	Coochbehar	Rural	50	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
150	Kuldanga	Bankura	Rural	87	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
151	Sridharpur(On Bismile - Harirampur Road)	Dakshin Dinajpur	Rural	60	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
152	Dittol(On Dittol to Nalagola Road upto Dakshin Dinaipur/Malda Border)	Dakshin Dinajpur	Rural	50	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
153	Simulia	Murshidabad	Rural	50	sc	CFS	30	25	750	0	0	Draw of Lots	0	2
154	Baithal to Bankadah	Bankura	Rural	66	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
155	Within 5Km. from Kotulpur SH2 Crossing towards Jayrambati	Bankura	Rural	66	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
156	Sahapur (In Bharatpur 1 Block)	Murshidabad	Rural	50	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
157	Mejia to Saltora	Bankura	Rural	89	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
158	Amritsal	Howrah	Rural	34	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
159	JoykriSHnapur to Patrasayer	Bankura	Rural	74	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
I	1	I	1	ı	I	1	ı	I	ı	ı	ı	l		i 1

160	Kasbagola, Block Egra 1	Purba Medinipur	Rural	65	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
161	Lara More (Kalida Mouza) Hura to KaSHipur Road	Purulia	Rural	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
162	Sitanagar	Murshidabad	Rural	50	ST PH	CFS	30	25	750	0	0	Draw of Lots	0	2
163	Balupur, Ratua to Bhaluka	Malda	Rural	56	OBC PH	DC	30	25	750	12	30	Draw of Lots	5	3
164	Banduan Chowk Bazar to Duarsini	Purulia	Rural	110	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
165	Purulia Sainik School to Ghongha (Not on NH/SH)	Purulia	Rural	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
166	Birampur, Ramanagar 1 Block	Purba Medinipur	Rural	54	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
167	Janka, Khejuri 2 Block	Purba Medinipur	Rural	68	sc	CFS	30	25	750	0	0	Draw of Lots	0	2
168	Bandwan Busstand Byepass	Purulia	Rural	69	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
169	Banduan to Barabazar Via Bamnidih	Purulia	Rural	59	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
170	Terapekheya In Nandigram 2 Block	Purba Medinipur	Rural	95	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
171	Tangrakhali, Block-Nandigram 1	Purba Medinipur	Rural	85	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
172	Harishpur to Hariharpara Bazar on Behrampore- Amtala Road	Murshidabad	Rural	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
173	From Khargram Police Station to Augram- Not on SH	Murshidabad	Rural	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
174	Lalgola to Rajarampur on Rajarampur Road	Murshidabad	Rural	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
175	Bholsara, Mahisadal Block	Purba Medinipur	Rural	90	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
176	Durgapur (On Durgapur - Churamon Road), Block - Itahar	Uttar Dinajpur	Rural	75	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
177	From Boinchi to Mirhat on Boinchi - Kalna Road	Purba Bardhaman	Rural	68	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
178	Solpatta , Egra 1	Purba Medinipur	Rural	82	ОВС	DC	30	25	750	12	30	Draw of Lots	5	3
179	Hukahara More to Ghospara on Nabipur to Jalangi Route	Murshidabad	Rural	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
180	Amarshi Kasba , Patashpur 1	Purba Medinipur	Rural	88	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
181	Chandpur Bazar to WB-Jharkhand Border	Murshidabad	Rural	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
182	Balighai , Egra 2 Block	Purba Medinipur	Rural	93	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
183	Bharatpur	Murshidabad	Rural	77	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
184	Pukhuria More to Sobhanagar, Not on SH 10	Malda	Rural	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
185	Kamalpur , Nandigram 1 Block	Purba Medinipur	Rural	62	SC CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
186	Pausi, Bhagbanpur 2 Block	Purba Medinipur	Rural	90	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
187	Sustani More to Tantipara on Gour Road towards Mohadipur Border	Malda	Rural	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
188	Prihara, Contai 3 Block	Purba Medinipur	Rural	85	OPEN PH	DC	30	25	750	12	30	Draw of Lots	5	4
189	Raipur, Keshpur Block	Paschim Medinipur	Rural	52	sc	CFS	30	25	750	0	0	Draw of Lots	0	2
190	Uttarsirsa, Keshpur Block	Paschim Medinipur	Rural	40	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
191	New Fatehpur to Barnahi, Talbangrua	Malda	Rural	52	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
192	Maraikura, Block - Raiganj	Uttar Dinajpur	Rural	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
193	Golabari to Srijani Pally on Golabari - Nilgunj Road	North 24Parganas	Rural	59	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
194	Kaligram to Kharba on Ashapur Road	Malda	Rural	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
195	Mojampur to Seshroad	Malda	Rural	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
196	Khopakathi - Nowapara	Malda	Rural	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
197	Baidyapur to Kharibari	North 24Parganas	Rural	62	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
198	Kashinagar (On Kashinagar - Mathurapur Road)	South 24 Parganas	Rural	54	sc	CFS	30	25	750	0	0	Draw of Lots	0	2
199	Upto 4Km from Kaliachak More on Mothabari Road towards Mothabari	Malda	Rural	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
200	Magrahat (On Magrahat - Dakhsin Barasat Road)	South 24 Parganas	Rural	54	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
201	Mazidbari (On Side Road of Basanti Highway)	South 24 Parganas	Rural	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
202	SubhaSHgram (On SubhaSHgram - Champahati Road)	South 24 Parganas	Rural	72	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
203	Bhaluka Bazar - Bhaluka Road Railway Crossing (Bhaluka - Tulsihata Road)	Malda	Rural	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
204	Kalitala (On Sonarpur - Bhangar Road)	South 24 Parganas	Rural	54	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
205	KuSHida to Swarupganj on Gohilla Road	Malda	Rural	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
	L			l										

206	Ekbarna to Haripur	Malda	Rural	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
207	Radhabalabhpur	South 24 Parganas	Rural	54	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
208	Mayahauri (On Dashinshun	South 24 Parganas	Rural	54	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
209	Tulsihatta(Within 5 Km of Tulsihatta More on Bhaluka	Malda	Rural	65	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
210	Tulsihatta Road Johoro Talma, Jalpaiguri	Jalpaiguri	Rural	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
211	Dakshin Gouripur (On Moudi - Sherpur Road)	South 24 Parganas	Rural	54	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
212	Iyarpur (On Nilkuthi Piyajganj Road)	South 24 Parganas	Rural	54	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
213	Gadra, Jalpaiguri	Jalpaiguri	Rural	110	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
214	Upto 2.0 Km from Bartala More towards Gate Bazar	Jalpaiguri	Rural	92	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
215	Dhur(On Dhuri - Jibantala Road)	South 24 Parganas	Rural	54	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
216	Kasinagar(On Baruipur - Kashinagar Road)	South 24 Parganas	Rural	54	sc	CFS	30	25	750	0	0	Draw of Lots	0	2
217	Between 2Nd Mile & Asigarh, Eastern Bypass	Jalpaiguri	Rural	120	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
218	Bahadur, Upto 5.0 Km from 73 Mile towards Chawalhati	Jalpaiguri	Rural	72	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
219	Radhikapur, Block - Kaliyaganj	Uttar Dinajpur	Rural	90	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
220	Kanmari (On Kanmari Road)	South 24 Parganas	Rural	54	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
221	Shikarpur Sheet 2, Canal Road, Jalpaiguri	Jalpaiguri	Rural	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
222	Upto 4.0 Km from 73 Mile towards Haldibari, Jalpaiguri	Jalpaiguri	Rural	103	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
223	Batasi, Block - Khoribarai	Darjeeling	Rural	70	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
224	Khaprail More to Jora Bridge Road	Darjeeling	Rural	120	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
225	Piali (On Champahati - Piyali)	South 24 Parganas	Rural	54	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
226	In Bhandardaha Village in Domjur Block, District Howrah	Howrah	Rural	38	ОВС	DC	30	25	750	12	30	Draw of Lots	5	3
227	In BhaSHkur Village in Domjur Block in District Howrah	Howrah	Rural	84	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
228	Bijanbari, Within 3Km from Bijanbari Postoffice towards Pul	Darjeeling	Rural	130	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
229	Bazaar In Jagatballavpur Village in Jagatballavpur Block in District	Howrah	Rural	40	sc	CFS	30	25	750	0	0	Draw of Lots	0	2
	Howrah													
230	Durlovpur Road	Howrah	Rural	80	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
231	Mangpo, Block - Rangli Rangliot	Darjeeling	Rural	64	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
232	Rosulpur to Mamudpur on Palla - Rasulpur Road	Purba Bardhaman	Rural	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
233	Sahapur (On Rasakhowa - Biprit Road in Goalpokhar 1 Block)	Uttar Dinajpur	Rural	75	sc	CFS	30	25	750	0	0	Draw of Lots	0	2
234	Joypur Crossing to Mukundadighi Crossing	Howrah	Rural	84	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
235	Debattar Charaljani	Coochbehar	Rural	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
236	Chakdola More to Jamuria (Not on NH-60)	Paschim Bardhaman	Rural	70	OPEN CC 2	DC	30	25	750	12	30	Draw of Lots	5	4
237	Maju- From Munshirhat to Panpur, Howrah	Howrah	Rural	66	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
238	Khalna on Joypur Road	Howrah	Rural	48	SC CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
239	Upto 4 Km from Ghoksadanga More towards Mathabhanga	Coochbehar	Rural	90	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
240	Petla Gram Panchyat office to Koalidaha (Not within Municipality Limit	Coochbehar	Rural	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
241	Eklakhi More to Benagai More	Hooghly	Rural	74	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
242	Samanta to Chiladingi More on Gareghat Road	Hooghly	Rural	80	sc	CFS	30	25	750	0	0	Draw of Lots	0	2
243	Satkura	Coochbehar	Rural	40	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
244	Ghugumari to Dewanhat	Coochbehar	Rural	40	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
245	Gangarampur - Hamjapur	Dakshin Dinajpur	Rural	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
246	Baneswar	Coochbehar	Rural	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
247	On Champadanga Road	Hooghly	Rural	74	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
248	On Barakar to Dishergarh Road	Paschim Bardhaman	Rural	120	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
249	Jagatpur, Garher Ghat, Hooghly	Hooghly	Rural	82	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
1		1	1				i	1						

250	Ghoshpur on Gourhati Arambag Road, Hooghly	Hooghly	Rural	48	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
251	Kochubari, Block - Phansidewa	Darjeeling	Rural	65	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
252	Krishnaganj	Nadia	Rural	60	ОВС	DC	30	25	750	12	30	Draw of Lots	5	3
253	Within 2 Km to 5 Km From Samuktala towards Mahakal	Alipurduar	Rural	140	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
254	Chowpati. Between Rampur & Jorai on Barobiaha-Baxirhat Road	Alipurduar	Rural	94	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
255	SHimulia to Chapra	Nadia	Rural	62	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
256	Valian	Birbhum	Rural	60	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
257	Bhatibari	Alipurduar	Rural	38	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
258	Kararan, Block - Karandighi	Uttar Dinajpur	Rural	74	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
259	Thakurpura	Birbhum	Rural	140	ОВС	DC	30	25	750	12	30	Draw of Lots	5	3
260	Santoshpur	Birbhum	Rural	128	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
261	Patiraj, Block - Itahar	Uttar Dinajpur	Rural	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
262	Khanta (on Rasakhova - Dhantola Road, Within 2Km of Siliguri More towards Dhantola)	Uttar Dinajpur	Rural	110	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
263	Rajnagar	Birbhum	Rural	100	OBC PH	DC	30	25	750	12	30	Draw of Lots	5	3
264	Gajadharpara to Halderpara on Berhampore Amtala Road	Murshidabad	Rural	60	SC PH	CFS	30	25	750	0	0	Draw of Lots	0	2
265	Dalkhola College More - Jiagachi	Uttar Dinaipur	Rural	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
266	Bindol, Raiganj Block	Uttar Dinajpur	Rural	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
267	Hukahara to Jortala	Murshidabad	Rural	70	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
268	Ramganj (In Islampur Block)	Uttar Dinajpur		60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
269		South 24 Parganas		54	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
270	Rabindra Tirtha to Hatisala, New Town	North 24Parganas	Regular	150	OPEN	cc	20	20	400	25	10	Bidding	30	5
271	Patharghata	North 24Parganas	Regular	154	OBC	сс	25	20	500	25	10	Bidding	30	4
272	Nalhati to Lohapur on on NH 60	Birbhum	Regular	215	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
273	Birati Municipality	North 24Parganas	Regular	190	OPEN	CC	20	20	400	25	10	Bidding	30	5
274	On Biren Roy Road (West) between Mahestala and Behala	Kolkata	Regular	250	OPEN	СС	20	20	400	25	10	Bidding	30	5
275	Between Dalkhola and Domohona Bridge on RHS on Dalkhola to Raiganj NH 34	Uttar Dinajpur	Regular	180	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
276	Between Mile Stone 765 & 767 on NH 31 on Coochbehar-	Coochbehar	Regular	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
277	Sonapur Road Within PS Kolkata Leather Complex on Basanti Highway	Kolkata		160	OPEN	cc	20	20	400	25	10	Bidding	30	5
			_							_				,
278	Khidderpore on Dock Eastern Road	Kolkata	Regular	325 150	OPEN OBC	CC DC	20	20 45	400 1575	25	10	Bidding	30	5
	Thakurpura, Patiram to Hilly on Patiram Hilly Highway	Dakshin Dinajpur	Regular				35			25	75	Draw of Lots	15	4
280	From Kavi Subhash Metro Station to Garia Railway Station on Garia Panchasyar Road	South 24 Parganas	Regular	155	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
281	Between Lava & Gorubathan on SH-12	Kalimpong	-	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
282	Simulbari to Garidhura on SH-12 on RHS from Simulbari to Garidhura	Darjeeling	Regular	106	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
283	Ratanpur to Dhaldanga on SH9	Bankura	Regular	105	OPEN CC 1	сс	35	35	1225	25	10	Bidding	30	5
284	Nowapara, Bagdanga on SH-13	Hooghly	Regular	109	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
285	Illumbazar to Joydeb More on SH 14	Birbhum	Regular	120	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
286	Between Km Stone 13 And 16 on SH 7 i Hooghly District	Hooghly	Regular	190	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
287	Durgapur City in between Muchipara More to SB more.	Paschim Bardhaman	Regular	170	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
288	Durgapur between DVC More to Gammon Bridge (Within Municipality Limit)	Paschim Bardhaman	Regular	150	OPEN	сс	20	20	400	25	10	Bidding	30	5
289	Within 4 Km of Gaisal towards Islampur on NH-31 on LHS	Uttar Dinajpur	Regular	190	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
290	Tamluk town on SH 4 (Within Municipality Area)	Purba Medinipur	Regular	170	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
291	Durgapur City(On 54 Ft. Road)	Paschim Bardhaman	Regular	155	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
292	Basirhat - Malancha Road	North 24Parganas	Regular	107	OPEN CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
293	Between Bantala & Paglahut on Basanti Highway	South 24 Parganas	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
	l .					l							1	

294	On SH-15, MunSHirhat to Rajapur	Howrah	Regular	116	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
295	Siliguri (Within Municipal Limits, on any Major Arterial Road other than Vardman & Sevoke Road)	Darjeeling	Regular	250	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
296	Siliguri within Municipal Limit, Jalpaiguri	Jalpaiguri	Regular	232	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
297	Champadali More to Golabari	North 24Parganas	Regular	107	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
298	Nawapara to Sahara Bahara on NH-81	Malda	Regular	170	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
299	A. P. Nagar Ramchandrapur on Sonarpur Chakberia Road	South 24 Parganas	Regular	115	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
300	On Southern Bypass within Rajpur Sonarpur Muncipal Limit	South 24 Parganas	Regular	191	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5
	(New Garia Barauipur By Pass Road)													
301	Maslandpur to Gaighata	North 24Parganas	Regular	117	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
302	Within 1 Km of Muchipara towards Malandighi (Within ADDA Limit)	Paschim Bardhaman	Regular	130	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
303	On SH-15, Minikpir to Amta Kalatala More	Howrah	Regular	103	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
304	Raniganj Byepass Road	Paschim Bardhaman	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
305	Ankurhati on SH-15, Howrah	Howrah	Regular	128	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
306	Within Maheshtala Municipality on Budge Budge Trunk Road	South 24 Parganas	Regular	160	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
307	Shaktigrah to Jougram on NH -2 LHS	Purba Bardhaman	Regular	218	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
308	Salapmore to Domjur Bazar on SH-15, Howrah	Howrah	Regular	113	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
309	Between Neamatpur -Barakar Road (Right Hand Side towards	Paschim Bardhaman	Regular	100	OPEN	DC	25	20	500	25	45	Draw of Lots	15	5
310	Asansol) Between Asansol -Neametpur Road (Right Hand Side towards	Paschim Bardhaman	Regular	105	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
311	Asansol) Within 4 Km of NH 6 SH 15 Crossing at Bagnan on SH 15 in	Howrah	Regular	107	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
312	Howrah District From Jirat Bus Stand to Tamlipara More	Hooghly	Regular	136	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
313	Burdwan City on Old GT Road	Purba Bardhaman	Regular	140	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
314	Katwa town	Purba Bardhaman	Regular	130	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
315	Betai to Nazirpur on RHS 5 Km from Betai Market towards	Nadia	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
316	Nazirpur on SH 11 Upto 2.0 Km from Indira More towards Bhotpatti on RHS on SH	Jalpaiguri	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
317	Bolpur town	Birbhum	Regular	130	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
318	Purulia Bus Stand to Simulia Via Dulmi	Purulia	Regular	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
319	Krishnanagar to Gadkhali on RHS on SH 8	Nadia	Regular	101	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
320	Betai to Plassey	Nadia	Regular	102	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
321	Bankura town (Lalbazar)	Bankura	Regular	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
322	Islampur town	Uttar Dinajpur	Regular	230	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
323	Bara Andulia to Tehatta	Nadia	Regular	104	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
324	Raiganj town (An any Major Arterial Road within Municipal Limit)	Uttar Dinajpur	Regular	260	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
325	Manjushree Chawk (Haldia) to Shrikrishnapur Mouza on SH4	Purba Medinipur	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
326	Haldibari within Municipality	Coochbehar	Regular	105	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
327	Kirnahar on SH	Birbhum	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
328	Mathabhanga town within Municipal Limit	Coochbehar	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
329	Madandihi (Neturia Block)	Purulia	Regular	101	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
330	Rani Chowk Bus Stop to Patikhali Railway Crossing on VIP	Purba Medinipur	Regular	180	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
331	Road. Haldia Alipurduar within Municipal Limit, Alipurduar	Alipurduar	Regular	145	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
332	Masagram to Srikrishnapur on SH 15	Purba Bardhaman	Regular	110	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
333	Komarpur on SH	Purba Bardhaman	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
334	Ajrah to Chaitanyapur on SH4	Purba Medinipur	Regular	136	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
335	Within Kharagpur Municipal Area (Not on SH/NH)	Paschim Medinipur	Regular	183	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
336	Junput , on SH5	Purba Medinipur	Regular	112	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
337	Between SHrirampur to Bordanga on SH	Purba Bardhaman	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
L		I .	i	L	l	1	1	I .	1	1	1	1	1	

	I=	I	I		I	I	I	I	I	I.	I.	I=	I.	I.
338	Tamluk to Nimtori on Srirampur Road	Purba Medinipur	-		SC	CFS	20	20	400	0	0	Draw of Lots	0	3
339	With Midnapur Munipality (Not on SH & NH)	Paschim Medinipur	Regular	115	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
340	Lhs from Kharagpur to Dantan on NH 60 from Stone. No. 73 to	Paschim Medinipur	Regular	274	OPEN	СС	35	45	1575	25	10	Bidding	30	5
341	RHS from Kharagpur to Dantan on NH60 From Stone. No. 73 to	Paschim Medinipur	Regular	824	OPEN	сс	35	45	1575	25	10	Bidding	30	5
342	Chinsurah (Not on SH) In Hooghly District	Hooghly	Regular	153	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
343	Bhogramguri in Mathabhanga I Block on SH 12 A on LHS from Chengrabandha to Mathabanga	Coochbehar	Regular	172	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
344	Coochbehar town (B/W Morapora Chowpatti to Newton Chowpatti on SH 12 A)	Coochbehar	Regular	150	OPEN PH	DC	35	35	1225	25	60	Draw of Lots	15	5
345	BiSHpuria to Ladhurka	Purulia	Regular	155	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
346	Rhs from Kharagpur to Belda on NH60 from Stone. No.108 to	Paschim Medinipur	Regular	624	OPEN	сс	35	45	1575	25	10	Bidding	30	5
347	Bankura More to Badulia More on SH7	Purba Bardhaman	Regular	190	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
348	LHS from Kharagpur to Belda on NH60 from Stone. No. 112 to	Paschim Medinipur	Regular	274	OPEN	сс	35	45	1575	25	10	Bidding	30	5
349	Between Coochbehar Rail Gumti & Chakchaka Check Post on	Coochbehar	Regular	180	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
350	SH-12A LHS From Kharagpur to Dantan on NH60 from Stone. No. 118 to 113	Paschim Medinipur	Regular	430	OPEN	сс	35	45	1575	25	10	Bidding	30	5
351	LHS from Belda to Kharagpur on NH60 from Stone No. 86 to 96	Paschim Medinipur	Regular	530	OPEN	сс	35	45	1575	25	10	Bidding	30	5
352	Within Ramjivanpur Municipality on SH 7	Paschim Medinipur	Regular	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
353	Kumargram on SH-12A	Alipurduar	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
354	LHS from Kharagpur to Belda on NH60 from Stone. No. 102 to	Paschim Medinipur	Regular	220	OPEN	сс	35	45	1575	25	10	Bidding	30	5
355	Buniadpur More to Jordighi on SH 10 A	Dakshin Dinajpur	Regular	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
356	Radhanagar to Khirpai on SH4	Paschim Medinipur	Regular	140	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
357	Within 2 Km of Trimohini More at Basirhat on SH2	North 24Parganas	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
358	LHS from Haldia to Nandkumar on NH41 betwenn Stone No. 46	Purba Medinipur	Regular	824	OPEN	сс	35	45	1575	25	10	Bidding	30	5
359	to 41 Nandkumar to Nimtori on LHS on NH41 between Stone No. 29	Purba Medinipur	Regular	430	OPEN	сс	35	45	1575	25	10	Bidding	30	5
360	to 20 Matia to Kholapota on SH-2 on RHS	North 24Parganas	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
361	Kharkurda on SH5	Paschim Medinipur	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
362	Lhs from Haldia to Kolaghat Between Stone No. 39 to 32	Purba Medinipur	Regular	824	OPEN	сс	35	45	1575	25	10	Bidding	30	5
363	Haldia City Centre to Brajalalchak on LHS between Stone No. 51 to 47 on NH 41	Purba Medinipur	Regular	836	OPEN	сс	35	45	1575	25	10	Bidding	30	5
364	Haroa to Gopalpur	North 24Parganas	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
365	Purulia town to Charra on SH	Purulia	Regular	114	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
366	Haldia City Centre to Brajalalchak on RHS Between Stone No. 47 to 51 on NH 41	Purba Medinipur	Regular	240	OPEN	сс	35	45	1575	25	10	Bidding	30	5
367	Within 3 Km of Chapadanga More towards Singur on SH 2 In Hooghly District	Hooghly	Regular	192	OPEN	сс	35	35	1225	25	10	Bidding	30	5
368	Halisahar on Ghoshpara Road	North 24Parganas	Regular	108	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
369	Rajarhat to Lauhati	North 24Parganas	Regular	116	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
370	From Balisai to Kanchibar on NH116B	Purba Medinipur	Regular	330	OPEN	сс	35	45	1575	25	10	Bidding	30	5
371	Kholapota to Baduria	North 24Parganas	Regular	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
372	From MaSHisgot to Pichhaboni Bridge on NH 116B	Purba Medinipur	Regular	280	OPEN	сс	35	45	1575	25	10	Bidding	30	5
373	From Contai Bypass Road to Ghatua Bus Stand on NH 116B	Purba Medinipur	Regular	280	OPEN	сс	35	45	1575	25	10	Bidding	30	5
374	Nilgunj to Barasat on Barasat Barrackpore Road .	North 24Parganas	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
375	Jaynagar (Between Jaynagar Bazaar & Bus Stand)	South 24 Parganas	Regular	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
376	Nachinda to Contai-Mecheda Bypass on NH116B	Purba Medinipur	Regular	345	OPEN	сс	35	45	1575	25	10	Bidding	30	5
377	On NH 116B Between DakSHin Kalamdam Village to Henria.	Purba Medinipur	Regular	480	OPEN	СС	35	45	1575	25	10	Bidding	30	5
378		North 24Parganas	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Expressway				L	L	L					L		

379	saration Book and a second control of the se	Inc st.	Barrier.	148	ОВС	DC	20	Ino	400	25	45	B	15	
	Within Dankuni Municipality (Not on NH/SH)	Hooghly	Regular					20						4
380	Between Stone No. 98 to 105 on NH 6 on LHS from Kolaghat to Kharagour	Paschim Medinipur	Regular	330	OPEN	СС	35	45	1575	25	10	Bidding	30	5
381	Naora, SH-6, Howrah	Howrah	Regular	112	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
382	Hoglasi More on SH-15 towards Bagnan	Howrah	Regular	106	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
383	LHS from NH60-SH4 Junction In Chandrakona Road to Garbheta.	Paschim Medinipur	Regular	204	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
384	On LHS from Khemasuli to Guptamoni on NH6	Paschim Medinipur	Regular	324	OPEN	СС	35	45	1575	25	10	Bidding	30	5
385	Kharagpur Chowringee to Dharma Chowk on NH60 on LHS.	Paschim Medinipur	Regular	280	OPEN	сс	35	45	1575	25	10	Bidding	30	5
386	Bhatra to Rajgram Rail Gate on SH 7	Birbhum	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
387	Burdwan to Dewandighi More on SH - 7.	Purba Bardhaman	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
388	Java to Dayer Bazar on LHS	Nadia	Regular	124	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
389	Between Km Stone 632 to 635 on NH 2 on LHS while going	Hooghly	Regular	244	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
	from Kolkata towards Budhaman.													
390	Khalor on SH-15, Howrah	Howrah	Regular		OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
391	Between Km Stone 606 to 610 on NH 2 on LHS while Going from Kolkata to Burdhman	Hooghly	Regular	169	OPEN	сс	35	45	1575	25	10	Bidding	30	5
392	Within 1Km from Gadiara Shyampur More towards Hoglashi More on SH-15	Howrah	Regular	124	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
393	Kalyani	Nadia	Regular	115	OPEN CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
394	From Rajhat to Natunpur (Raushnabazar) on SH-13	Hooghly	Regular	130	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
395	Between Km Stone 618 to 622 on NH 2 on LHS while going from Kolkata to Burdhaman	Hooghly	Regular	180	OPEN	сс	35	45	1575	25	10	Bidding	30	5
396	Somrabazar Station More to Guptipara More (LHS) on STKK	Hooghly	Regular	124	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
397	Chakdaha to Balia on SH1	Nadia	Regular	120	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
398	Between Km Stone 600 to 604 on NH 2 on LHS while going	Hooghly	Regular	340	OPEN	сс	35	45	1575	25	10	Bidding	30	5
	from Kolkata towards Budhaman on NH 2													
399	Between Km Stone 638 to 642 on NH 2 on LHS while going from Kolkata to Bardhaman	Hooghly	Regular	355	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
400	Tinmail to Jorshanko on SH-9	Nadia	Regular	107	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
401	Within 2 Km of Uchanal on SH7	Purba Bardhaman	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
402	On LHS -Santragachi Railway Station to NH-6 # Kona Expressway Crossing	Howrah	Regular	218	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
403	Within 8 Km of Panchla Bus Stand towards Kharagpur on LHS on NH6 in Howrah District	Howrah	Regular	490	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
404	Gopalnagar to Balia	Nadia	Regular	110	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
405	Madanpur Road	Nadia	Regular	105	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
406	On RHS going from Plassey to Lokenathpur (Between Milestones 162 & 168)	Nadia	Regular	165	OPEN	сс	35	45	1575	25	10	Bidding	30	5
407	Khatra to Simlapal on SH	Bankura	Regular	110	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
408	Memari town	Purba Bardhaman	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
409	Sonamukhi to Kankardanga on SH	Bankura	Regular	105	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
410	Bhatjangla to Durgapur(Dignagar) on RHS towards Kolkata	Nadia	Regular	185	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
411	Awalsiddhi to Jagulia	North 24Parganas	Regular	220	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
412	Gantar on SH (Between Memari to Shankarpur)	Purba Bardhaman	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
413	Dhubulia to Bethuadhari on LHS	Nadia	Regular	181	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
414	Jhilimili on SH	Bankura	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
415	Between Milestone No 449 to 454 on LHS towards Dhanbad on NH-2	Paschim Bardhaman	Regular	185	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
416	Piardoba on SH	Bankura	Regular	132	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
417	Between Milestone No 474 to 479 on LHS towards Kolkata on	Paschim Bardhaman	Regular	230	OPEN	сс	35	45	1575	25	10	Bidding	30	5
418	NH-2 Chalkbaid on SH	Bankura	Regular	143	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
419	Gobindapur More to Hatirampur More on SH	Bankura	Regular	127	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
	1	1	i	l	ı	1	1	I .	1	1	1	1	1	

420	Between Milestone No 519 to 522 on NH-2 towards Kolkata on LHS	Paschim Bardhaman	Regular	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
421	Between Raniganj More to Chanda More towards Asansol on RHS on NH-2	Paschim Bardhaman	Regular	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
422	Hemtabad More to Kaliyaganj Railway Station	Uttar Dinajpur	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
423	Baghdiha to Sulukpahari on SH	Bankura	Regular	210	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
424	Within 3 Km of Serampore More towards Baidyabati on RHS on	Hooghly	Regular	242	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
425	SH 13 Between Panagarh & Rajbandh on NH-2 (Left Hand Side	Paschim Bardhaman	Regular	220	OPEN	СС	35	45	1575	25	10	Bidding	30	5
426	towards Kolkata) Within Budge Budge Municipality (Not on NH/SH)	South 24 Parganas	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
427	Kaliyaganj town (Within Municipality Limit)	Uttar Dinajpur	Regular	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
428	Between Chanda More & Jublee More on NH-2 (Right hand	Paschim Bardhaman	Regular	205	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
	Side towards Kolkata)													
429	Between Muchipara & Rajbandh on NH-2 (Left Hand Side towards Kolkata)	Paschim Bardhaman	Regular	220	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
430	Between Darjeeling More & Bud-Bud on NH-2 (Right Hand Side towards Kolkata)	Paschim Bardhaman	Regular	220	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
431	Within Pujali Municipality (Not on NH/SH)	South 24 Parganas	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
432	Ashoknagar	North 24Parganas	Regular	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
433	Kanchrapara Haringhata Road	North 24Parganas	Regular	117	OPEN CC 1	DC	25	20	500	25	45	Draw of Lots	15	5
434	Andul Road- from Alampur to Bakultala	Howrah	Regular	155	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
435	Puruliya to Joynagar(Hutmura) on LHS on NH60A	Purulia	Regular	198	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
436	Heavy More to Kanchanpur on NH60	Bankura	Regular	245	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
437	Between Panagarh to Budbud on LHS towards Kolkata on NH-2	Paschim Bardhaman	Regular	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
438	Within Chandrakona Municipality (Not on NH/SH)	Paschim Medinipur	Regular	105	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
439	Keshiary on SH5	Paschim Medinipur	Regular	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
440	Hura to Lalpur on NH60A	Purulia	Regular	235	OPEN	сс	35	45	1575	25	10	Bidding	30	5
441	Within Egra Municipality	Purba Medinipur	Regular	110	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
442	Within Ghatal Municiplaity (Not on SH/NH)	Paschim Medinipur	Regular	110	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
443	From Silda Crossing to Enthela on Left Hand Side on SH 9	Jhargram	Regular	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
444	Darjeeling town (Within Municipal Limit)	Darjeeling	Regular	152	OPEN PH	DC	20	20	400	25	45	Draw of Lots	15	5
445	Kurseong town (Within Municipal Limit)	Darjeeling	Regular	160	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
446	Within Panskura Municipality	Purba Medinipur	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
447	Poabagan to Hatogram (on NH60A)	Bankura	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
448	Contai town (Within Municipality Area - Not on SH/NH)	Purba Medinipur	Regular	250	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
449	Kalimpong town (Within Municipal Limit)	Kalimpong	Regular	152	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
450	Damdamore to Kantadi Rail Gate on NH32	Purulia	Regular	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
451	Within 3Km of Damda on NH (NH32 & SH5 Intersection)	Purulia	Regular	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
452	Kantadi to Balarampur on NH32	Purulia	Regular	175	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
453	Within 3 Km from Bolpur on Bolpur to Illumbazar Road	Birbhum	Regular	180	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
454	Rampurhat town	Birbhum	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
455	Berai Ghat (Bishnupur) SH 2 Crossing to Bishnupur Rail Gate on NH60 on LHS	Bankura	Regular	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
456	Suri town	Birbhum	Regular	130	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
457	Sainthia town	Birbhum	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
458	Puruliya town	Purulia	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
459	Dhaldanga to Kalisen on NH60 on LHS towards Bishnupur	Bankura	Regular	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
460	Raniganj town (Other Than NH60)	Paschim Bardhaman	Regular	122	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
461	Gangajalghatti to Durlavpur (Mejhia Thermal Power Station)	Bankura	Regular	169	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1	1	l		l		1	l	l	l	1	1	l		1

462	Bishnupur to onda on NH60	Bankura	Regular	183	OPEN	cc	35	45	1575	25	10	Bidding	30	5
463	Within 3 Km from Illumbazar on Illumbazar to Bolpur Road	Birbhum	Regular	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
464	Within 1 Km of Bajepratappur (At the Exit of Burdwan City)	Purba Bardhaman	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
465	BiSHnupur to Chaubetya on NH60 Via Bankadaho	Bankura	Regular	183	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
466	Simulia (Will Cox Road)	Purulia	Regular	245	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
467	Congar More to Kalapathar on SH2	Bankura	Regular	115	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
468	Upto 3.0 Km from Beerpara Chowpati towards Beerpara Rail	Alipurduar	Regular	130	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
469	Gumti Onda on NH-60	Bankura	Regular	159	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
470	Guskara to Bolpur on NH 2B	Purba Bardhaman	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
471	Between Alipurduar Chowpatti and Birpara Chowpatti, Alipurduar	Alipurduar	Regular	145	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
472	Jalpaiguri town (B/W Goshala More to NBSTC Bus Terminus)	Jalpaiguri	Regular	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
473	Lohapur to Nakpur on NH-60	Birbhum	Regular	215	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
474	Panchra to Dubrajpur on NH 60	Birbhum	Regular	195	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
475	Naxalbari town(Not on NH)	Darjeeling	Regular	200	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
476	Coochbehar town within Municipal Limit	Coochbehar	Regular	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
477	Mohmmad Bazar to Rampurhat on NH 60	Birbhum	Regular	235	OPEN	СС	35	45	1575	25	10	Bidding	30	5
478	Suri to Mohmmad Bazar on NH 60	Birbhum	Regular	215	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
479	Tufanganj town (Within 2 Km from SDO Tufanganj office)	Coochbehar	Regular	155	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
480	Budbud to Paraj on NH-2 LHS	Purba Bardhaman	Regular	250	OPEN	СС	35	45	1575	25	10	Bidding	30	5
481	Bankura Sammilani Medical College and Hospital Via Rajgram	Bankura	Regular	103	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
482	Bridge Balurghat town(Within Municipal Limits)	Dakshin Dinajpur	Regular	210	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
483	Babupara (Within 1 Km From Jalpaiguri Head Post office)	Jalpaiguri	Regular	165	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
484	Bamanpukur on Basanti Highway	North 24Parganas	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
485	Jalpaiguri town (B/W Assam More to NBSTC Bus Terminus)	Jalpaiguri	Regular	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
486	Jalpaiguri town (B/W Goshala More to Denguajhar)	Jalpaiguri	Regular	105	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
487	Burdwan to Shaktigarh on NH -2 LHS	Purba Bardhaman	Regular	215	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
488	Mothbari, Block-Minakha towards Sonakhali RHS on Basanti	North 24Parganas	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
489	Highwav Malda town 3 (Netaji More to 420 More on NSC Bose Road)	Malda	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
490	Jiaganj town	Murshidabad	Regular	210	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
491	Rampurhat to Nalhati on NH 60	Birbhum	Regular	195	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
492	Within 4 Km from Dhantola towards Islampur on NH-31 on RHS	Uttar Dinajpur	Regular	350	OPEN CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
493	Within Baruipur Municipality (Not on NH/SH)	South 24 Parganas	Regular	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
494	Within Joynagar Majilpur Municipality (Not on NH/SH)	South 24 Parganas	Regular	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
495	Chinpai to Suri on NH 60	Birbhum	Regular	225	OPEN	сс	35	45	1575	25	10	Bidding	30	5
496	Dubrajpur to Chinpai on NH 60	Birbhum	Regular	195	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
497	Malda town 2 (Mangalbari More to Kadirpur Overbridge)	Malda	Regular	160	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
498	Lalbagh	Murshidabad	Regular	210	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
499	Burdwan to Shaktigarh on NH -2 RHS	Purba Bardhaman	Regular	194	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
500	KriSHnamonah on Barauipur Kulpi Road	South 24 Parganas	Regular	140	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
501	Nazirabad (On Narizabad - Bypass Connector)	South 24 Parganas	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
502	Vill Sreepur At P.S. Joynagar on Barauipur Kulpi Road	South 24 Parganas	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
503	Matgoda to Fulkusma on SH9	Bankura	Regular	103	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
504	Paraj to Galsi on NH - 2 LHS	Purba Bardhaman	Regular	250	OPEN	сс	35	45	1575	25	10	Bidding	30	5
505	Muragacha More - Sodepur	North 24Parganas	Regular	115	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
			I	l	l	1	1	L	l	L	I	L		

506	Malda town 1(on Station Road Or Manaskamona Road towards	Malda	Regular	200	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
	Kotwali Upto Municiaplity Limit)													
507	Madhyamgram - Muragacha More	North 24Parganas	Regular	109	SC	CFS	25	20	500	0	0	Draw of Lots	0	3
508	Krishnagar town	Nadia	Regular	140	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
509	Paraj to Galsi on NH - 2 RHS	Purba Bardhaman	Regular	225	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
510	At Bhadua on SH 13 on RHS while going from Dankuni to Baidvabati	Hooghly	Regular	244	OPEN	cc	35	35	1225	25	10	Bidding	30	5
511	Rajchandrapur Ghospara , Howrah	Howrah	Regular	198	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
512	Taldangra to Simlapal (on SH9)	Bankura	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
513	SHaktigrah to Jougram on NH -2 RHS	Purba Bardhaman	Regular	215	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
514	Sahipur on NH 117	South 24 Parganas	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
515	Bally, Howrah	Howrah	Regular	152	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
516	Ranaghat	Nadia	Regular	107	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
517	East Chepani on NH-31C on LHS from Chepani Chowpati towards Dharsi Chowpati	Alipurduar	Regular	200	OPEN	сс	35	45	1575	25	10	Bidding	30	5
518	Upto 4.0 Km from Binnauri towards Banarhat on NH-31	Jalpaiguri	Regular	152	OPEN	cc	35	45	1575	25	10	Bidding	30	5
519	ManjuSHreee Chawk to City Centre Junction on LHS on HPL Link Road	Purba Medinipur	Regular	330	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
520	Kalna town	Purba Bardhaman	Regular	120	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
521	Upto 6.0 Km from Birpara Chawpati towards Falakata on NH31	Alipurduar	Regular	186	OPEN	сс	35	45	1575	25	10	Bidding	30	5
522	Upto 10.0 Km from Beerpara Chawpati towards Uttar Sonapur on NH-31D	Alipurduar	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
523	Within Kharar Municiplaity (Not on SH)	Paschim Medinipur	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
524	Upto 4.0 Km from Birpara Chawpati towards Sishubari on RHS on NH-31C	Alipurduar	Regular	174	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
525	Manjushreee Chawk to City Centre Junction on RHS on HPL Link Road	Purba Medinipur	Regular	340	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
526	Between Mile Stone 251 & 256 on LHS towards Srirampur Boarder on NH-31C	Coochbehar	Regular	265	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
527	Kamalpur	Paschim Bardhaman	Regular	156	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
528	Upto 4.0 Km from Dhupguri Chowpatti towards Gairkata on NH-	Jalpaiguri	Regular	156	OPEN	сс	35	45	1575	25	10	Bidding	30	5
529	Raipur Bazar to P-More on SH9	Bankura	Regular	115	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
530	Burdwan town Within Municipal Limit (Not on SH/NH/GT Road)	Purba Bardhaman	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
531	Upto 4.0 Km from Dhupguri Chowpatti towards Falkata on NH- 31D	Jalpaiguri	Regular	154	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
532	Guskara within Municipal Limit (Not on SH/NH)	Purba Bardhaman	Regular	110	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
533	Rabindrabithi Bye-Pass Junction (Bye-Pass from NH-2B Extension)	Birbhum	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
534	Upto 5 Km from Alipurduar Chowpati towards Alipurduar Junction Road, Alipurduar	Alipurduar	Regular	145	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
535	Upto 5.0 Km from Gandarmore towards Fatapukur on RHS on	Jalpaiguri	Regular	166	OPEN	сс	35	45	1575	25	10	Bidding	30	5
536	NH-31D Batabari to Moulani on NH, Jalpaiguri	Jalpaiguri	Regular	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
537	Mathabhanga town (Within 2 Km from Mathabhanga SDO	Coochbehar	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
538	office) Mirik town (Within Municipal Limit)	Darjeeling	Regular	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
539	Chalsa to Batabari on NH, Jalpaiguri	Jalpaiguri	Regular	160	OPEN	СС	35	45	1575	25	10	Bidding	30	5
540	Sukhani Busty on NH, Jalpaiguri	Jalpaiguri	Regular	160	OPEN	СС	35	45	1575	25	10	Bidding	30	5
541	Upto 5.0 Km from Talma towards Paharpur More on NH31D	Jalpaiguri	Regular	172	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
542	Dumdum to Madhyamgram	North 24Parganas	Regular	164	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
543	Pandapara on Haldibari Road (B/W Park More to Bowbazar)	Jalpaiguri	Regular	155	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
544	Behrampore town(Within Municipal Limits)	Murshidabad	Regular	120	OPEN PH	DC	20	20	400	25	45	Draw of Lots	15	5
545	Hospital Road within Municipal Limit, Jalpaiguri town, Jalpaiguri	Jalpaiguri	Regular	103	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
546	Bhajanpur, Between Chakarmari Check Post and Bhalukgara More on NH-31C	Darjeeling	Regular	156	OPEN	сс	35	45	1575	25	10	Bidding	30	5
547	Omarpur More on NH to Raghunathganj Bridge	Murshidabad	Regular	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
548	Between Kmst 395 & Km Stone 393 on NH-34 on LHS from Raigani to Malda	Uttar Dinajpur	Regular	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
	Malkani to Mgida	·	·						l					

	1													
549	Coochbehar town (B/W Panchrangi More to Morapora Chowpatti on Bangchatra Road)	Coochbehar	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
550	RHS from Mecheda to Nandkumar on NH41 between Stone No.	Purba Medinipur	Regular	640	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
551	Within 5 Km of Fulbari Barrage towards Ghoshpukur on LHS on Fulbari-Ghoshpukur Bypass	Darjeeling	Regular	278	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
552	Alipurduar town (On SH 12 B/W Alipurduar Chowpatty to Manojit Nag Bus Terminus)	Alipurduar	Regular	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
553	Jalpaiguri town (B/W Kadamtalla More to NBSTC Bus	Jalpaiguri	Regular	167	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
554	Terminus) Between PWD More and Bhalukgara More on NH-31C (NH- 327)	Darjeeling	Regular	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
555	Upto 4 Km From Khagrabari towards Alipurduar on SH-12A	Coochbehar	Regular	180	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
556	Jalpaiguri town (B/W Teyyatur More to Kadamtalla More on DBC Road)	Jalpaiguri	Regular	165	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
557	Between Ghoshpukur to Kantivitta on Phulwari-Ghoshpukur Byepass	Darjeeling	Regular	178	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
558	Tungidighi to Karandighi (LHS while going from Raiganj to Dalkhola)	Uttar Dinajpur	Regular	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
559	Within 3 Km from Purnea More towards Raiganj on LHS on NH-	Uttar Dinajpur	Regular	270	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
560	Jalpaiguri town (B/W Goshala More to Trimurti Chowk)	Jalpaiguri	Regular	162	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
561	Durgabari More to Assam More (Maynaguri town)	Jalpaiguri	Regular	155	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
562	Raiganj Bypass (Between Kasba More to Siliguri More)	Uttar Dinajpur	Regular	260	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
563	Within 5 Km Radius of Panitanki More on NH-31C	Darjeeling	Regular	230	OPEN	сс	35	45	1575	25	10	Bidding	30	5
564	Old Malda(Mangalbari More to Sujapur Railway Crossing on Old Malda Road)	Malda	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
565	Raipur to Sindurpur on SH4	Bankura	Regular		ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
566	Within 5 Km From Intersection at Bagdogra of NH31 and NH- 31C towards Naxalbari	Darjeeling	Regular	340	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
567	Between Loha Pul (Rambi) and Kalijhora on NH-10 In Kalimpong District	Kalimpong	Regular	200	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
568	Malda town 5 (Arubindo Park to Jotekabil Road Via Hazaratnagar)	Malda	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
569	Malda town 4 (Nischintapur to Sahapur Setu More Via Bandh Road)	Malda	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
570	Between Bagdogra and Ghospukur on LHS on NH-31	Darjeeling	Regular	240	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
571	Berhampore town 5 (Kandi Bus Stand Market to Haridasmati)	Murshidabad	Regular	190	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
572	Between Surjapur toll And Purnea More on Lhs on NH-31	Uttar Dinajpur	Regular	400	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
573	Gazole to Samsi on NH-81	Malda	Regular	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
574	Malda town, Within Municipal Limits	Malda	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
575	Beldanga town	Murshidabad	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
576	Chandpur to Nawapara on NH-131	Malda	Regular	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
577	Samsi More to Malatipur More on NH 81	Malda	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
578	Within Jhargram Municipality (Except on SH)	Jhargram	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
579	Berhampore town 3 (Cossimbazar Railway Station to NH-34 Via Bishnupur)	Murshidabad	Regular	150	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
580	Harishchandrapur (Within 3 Km of Tulsihatta Bridge on NH 81)	Malda	Regular	150	OPEN	сс	20	20	400	25	10	Bidding	30	5
581	Birohi to Ranaghat on RHS	Nadia	Regular	211	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
582	Habra to Chandpara on LHS	North 24Parganas	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
583	LHS between Kolaghat to Mecheda on NH41 Between Stone No. 11 to 14	Purba Medinipur	Regular	530	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
584	Gazole toll exit to Pandua on NH-34, on LHS Moving from Gazole toward Malda	Malda	Regular	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
585	Gazole to Maina(LHS from Malda to Raiganj on NH 34)	Malda	Regular	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
586	Cpt Market Bus Stop to ManjuSHree More on VIP Road,Haldia	Purba Medinipur	Regular	180	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
587	NH 60 on LHS from Rupnarayanpur to Belda between Stone	Paschim Medinipur	Regular	220	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	No. 119 to 120					L		I	L		L	L	1	

	1													
588	On SH - 9 Between Stone No 5 to 8 (Gopiballavpur Block 2)	Jhargram	Regular	240	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
589	Within 5 Kms of Gangrampur More on towards Buniadpur, LHS on NH 512	Dakshin Dinajpur	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
590	Amdanga - Awalsiddhi	North 24Parganas	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
591	Sujapur to Sustani More on NH-34, LHS on moving from Farraka towards Malda.	Malda	Regular	175	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
592	Barasat - Amdanga on RHS	North 24Parganas	Regular	170	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
593	Bhimgarh to Panchra More on NH-60	Birbhum	Regular	152	OPEN CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
594	Labpur on SH	Birbhum	Regular	110	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
595	Ramjibanpur - Stone No. 14 to 19 on SH 7	Paschim Medinipur	Regular	200	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
596	Bamangachi to Habra	North 24Parganas	Regular	165	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
597	Bethuadhary to Debagram on LHS	Nadia	Regular	166	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
598	Beldanga to Rejingar, LHS on NH-34 while moving from Behrampore towards Kolkata	Murshidabad	Regular	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
599	From Daspur to Ranapur on SH4	Paschim Medinipur	Regular	145	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
600	Debagram to Plassey on RHS	Nadia	Regular	174	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
601	Within 5Km from Kotulpur towards Arambagh on SH2	Bankura	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
602	Chandermore toll Gate to Ajagarpara More on NH 34(Rhs While Going from Farakka to Berhampore)	Murshidabad	Regular	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
603	Dhulian More to Sajurmore on NH 34(RHS while going from Farakka to Berhampore)	Murshidabad	Regular	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
604	Debagram to Plassey on LHS	Nadia	Regular	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
605	Krishnanagar to Dhubulia on LHS	Nadia	Regular	175	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
606	Farraka Barrage exit to Ballarpur on NH-34, LHS on Going from Malda towards Behrampore	Murshidabad	Regular	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
607	Kolaghat to Mecheda on NH41 on LHS between Stone No. 5 to	Purba Medinipur	Regular	230	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
608	Chandpara to Bongaon	North 24Parganas	Regular	174	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
609	SHantipur to Krishnanagar on LHS	Nadia	Regular	195	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
610	Four Point Crossing on NH-2 to Railway Bridge on SH-5	Paschim Bardhaman	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
611	Darjeeling More to Domra on LHS on SH 14	Paschim Bardhaman	Regular	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
612	Barajagulia to Birohi on RHS	Nadia	Regular	177	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
613	Within 2 Km of Kurhmun on SH8	Purba Bardhaman	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
614	Salap to Ankurhati on NH-6 on LHS towards Khargapur	Howrah	Regular	194	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
615	Within 5 Km from Satgachia More towards Memari	Purba Bardhaman	Regular	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
616	On NH-6 Between Dhulagarh to NH-6-Kona Ex. Crossing on LHS	Howrah	Regular	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
617	Majhergram on SH15	Purba Bardhaman	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
618	On NH-2, Dankuni toll Plaza to Baidyabati- Tarakeshwar Bridge Crossing towards Burdwan on RHS	Hooghly	Regular	370	ST PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
619	On LHS- Belepole to Santragachi Railway Staion on Kona	Howrah	Regular	230	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
620	Expressway Between Km Stn 0 to 4 on SH 2 on in Hooghly District	Hooghly	Regular	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
621	Kuthirpara on SH (Between Nadanghat More to Hemaitpur)	Purba Bardhaman	Regular	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
622	Kharagpur Chowringee to Dharma Chowk on NH60 on RHS	Paschim Medinipur	Regular	230	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
623	NH-6 # NH-2 Crossing to Salap on NH-6	Howrah	Regular	660	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
624	Chapahati to Hemaitpur on SH	Purba Bardhaman	Regular	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
625	Within 3 Km of Sugandha More on SH 13 towards Mogra	Hooghly	Regular	187	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
626	Between Stone No. 84 to 80 on NH 60 on Lhs From Belda	Paschim Medinipur	Regular	220	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
627	towards Dantan Within 2 Kms from Chichira Kadamtola More towards Sardiha	Paschim Medinipur		270	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
628	on RHS on NH6 Nutanhat to Futishanko on RHS on SH7	Birbhum	Regular	110	OPEN	DC	35		1225	25	60	Draw of Lots	15	-
028	INULAIMAL TO FUTISMANKO ON KHS ON SH7	DIIVNUM	regular	110	OPEN	DC.	33	35	1425	23	lon,	Draw or Lots	13	l°

629	Within 5 Km from Hetampur towards Joydeb More on SH 14	Birbhum	Regular	220	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
630	Koshigram to Futi Sanko Road on SH - 6	Purba Bardhaman	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
631	Nimpura on LHS from Kharagpur to Lodhasuli	Paschim Medinipur	Regular	220	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
632	Nandarchak to Nimpura on NH6 on RHS	Paschim Medinipur	Regular	220	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
633	Nandkumar to Nimtori on RHS on NH41 Between Stone No. 29 to 20	Purba Medinipur	Regular	270	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
634	RHS from NH60-SH4 Junction In Chandrakona Road to Garbheta.	Paschim Medinipur	Regular	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
635		Paschim Medinipur	Regular	112	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
636	From Garbheta to Dhadika, LHS on NH60	Paschim Medinipur	Regular	220	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
637	Suri on Suri-Purandar Road	Birbhum	Regular	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
638	Sitarampur to Sundra on NH 60 ,RHS from Midnapur to Salboni	Paschim Medinipur	Regular	205	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
639	Mollarpur to Sainthia on SH -14	Birbhum	Regular	135	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
640	Between Km Stone 33 and 36 on SH 7 in Hooghly District	Hooghly	Regular	192	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
641	Debra on NH6, RHS from Debra to Kharagpur	Paschim Medinipur	Regular	220	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
642	Nimtori to Radhamoni on NH 41 on RHS between Stone No. 19 to 14	Purba Medinipur	Regular	220	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
643	to 14 Nalhati to Murarai on SH 7	Birbhum	Regular	165	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
644	Talibhata to Nandkumar on NH41 on LHS Between Stone No.33 to 30	Purba Medinipur	Regular	430	OPEN PH	DC	35	45	1575	25	75	Draw of Lots	15	5
645	to 30 Between Mangalpur & Andal on NH-2 (Left Hand Side towards Kolkata)	Paschim Bardhaman	Regular	230	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
646	KOIKATA) Between Panagarh & Rajbandh on NH-2 (Right Hand Side towards Kolkata)	Paschim Bardhaman	Regular	220	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
647	Katjuridanga to Salboni on SH8	Bankura	Regular	166	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
648	Beliatore to Jambedia on SH9	Bankura	Regular	115	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
649	Beliatore to Sonamukhi	Bankura	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
650	Bikrampur to Chakbaid on SH9	Bankura	Regular	135	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
651	Within 2 Km of Amta Gagan More on SH 15 In Howrah District	Howrah	Regular	165	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
652	Narayanpur to Belpahari on SH5	Jhargram	Regular	200	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
653	Between Miliakhola & Barakar River (Jharkhand Border) on NH 2 (Right Hand Side towards Kolkata)	- Paschim Bardhaman	Regular	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
654	Durgapur (Steel Park More to Fuljhor More on Jawaharlal Nehru Road)	Paschim Bardhaman	Regular	165	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
655	BiSHnupur to SHivdanga More (Taldangra) Via Chagulia	Bankura	Regular	115	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
656	Between Raniganj & Chanda More on NH-2 (Right Hand Side towards Kolkata)	Paschim Bardhaman	Regular	220	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
657	Kuli to Murshidabad/Birbhum Border (towards Saithia) on SH	Murshidabad	Regular	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
658	11 Between Gopalmath & Waria on NH-2 (Right Hand Side	Paschim Bardhaman	Regular	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
659	towards Kolkata) Indpur to Hatirampur	Bankura	Regular	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
660	Between Indo American More & Gandhimore on NH-2 (Right Hand Side towards Kolkata)	Paschim Bardhaman	Regular	170	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
661	Hatirampur to Khatra on SH-2	Bankura	Regular	140	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
662	Durgapur Barrage to Barjora on RHS (SH9)	Bankura	Regular	146	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
663	Palashipara, on SH	Nadia	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
664	Chakdola More to Haripur on NH60	Paschim Bardhaman	Regular	160	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
665	Khatra on SH-4 within 7 Km from Khatra Chowk	Bankura	Regular	233	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
666	Upto 10 Km from Cheko towards Kamakhyaguri on SH-12A	Alipurduar	Regular	145	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
667	Bhedua to Heavymore	Bankura	Regular	118	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
668	Jamsherpur , on RHS Going from Karimpur to Gopalpur	Nadia	Regular	140	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
669	Bankura College More to Katjuridanga More	Bankura	Regular	125	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
670	Gobag to Sarbori More	Purulia	Regular	135	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

671	Upto 4 Km from Station Chowpatti towards Ghughumari on SH- 12A	Coochbehar	Regular	180	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
672	Dhubulia to Bethuadhari on RHS.	Nadia	Regular	168	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
673	Within 7 Km from Jhalda New Police Station towards Jaipur on SH4A	Purulia	Regular	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
674	Gadapathar to Manbazar on SH4 Via Pairachali.	Purulia	Regular	115	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
675	Haripur to Chhitka,4 Km from Betai ,on RHS going from Betai to Karimpur	Nadia	Regular	165	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
676	Tal Tala More to Paranpur Bus Stand on Patiram Balurghat Road	Dakshin Dinajpur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
677	Jhalda Police Station to Subarnarekha River Via Tulin on SH4A	Purulia	Regular	165	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
678	Manbazar Bus Stand to Banduan Chowk Bazar on SH5 Via Boro	Purulia	Regular	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

LHS on NH6 S80 Within 4 Km from Chass S81 Radhamoni to Mechedi 30 to 6 S82 New Farakka NTPC Mor Via Tildanga (On either S83 Ballalpur Railway Over while going from Farakk S84 Sarenga on SH S85 Within Diamond Harbor S86 Kamgachi Nadia(On RH S87 From Kuli More Upto M S88 Jasaitala to Madhupur C S89 Omarpur More to More from Farakka to Berham S90 Moregram Bridge to Sul from Farakka to Berham S91 Beyond S Km from Kuli S92 Sukhi More to SHibpur From Farakka to Berham S93 Rasulpur on SH	asmore towards Garh Joypur on SH-4A ada on NH41 on RHS Between Stone Mo. tore to WB-Jharkhand Border on NH-80 er side of Road) er side of Road) er side of Road bour Municipality (Not on NH/SH) tHS From Ranaghat to Birnagar) MurSHidabad-Birbhum Border on SH-7 or on SH 11 pregram Bridge on NH 34(RHS While going ampore) ultimore to Khargram ur toll Gate on NH 34(RHS While Going	Murshidabad	Regular	196 270 150 150 130 100 135 150 150	OPEN ST OBC OPEN CC 1 OPEN SC ODEN OPEN ODEN ODEN ODEN ODEN ODEN	DC DC CFS DC DC DC DC	35 35 35 35 35 20	35 45 45 45 45 20	1575 1575 1575 1225 400	25 0 25 25 25 25 0	75 60 0 75 75 60	Draw of Lots Draw of Lots Draw of Lots Draw of Lots	15	5 3 4 5 5 5
681 Radhamoni to Mechedi 10 to 6 682 New Farakka NTPC Mor Via Tildanga (On either 683 Ballaipur Railway Over while going from Farakl 684 Sarenga on 5H 685 Within Diamond Harboo 686 Kamgachi Nadia(On RH 687 From Kull More Upto M 688 Jassaltala to Madhupur o 689 Omarpur More to More 690 Moregram Bridge to SU 690 Moregram Bridge to SU 691 Beyond S Km from Kull 692 Sukhi More to SHibpur 692 Sukhi More to SHibpur 693 Rasulpur on SH	ada on NH41 on RHS Between Stone Mo. fore to WB-Jharkhand Border on NH-80 er side of Road} er Bridge to Dhulian More on NH 34(RHS sokka to Berhampore) Dour Municipality (Not on NH/SH) RHS From Ranaghat to Birnagar) MurSHidabad-Birbhum Border on SH-7 er on SH 11 pregram Bridge on NH 34(RHS While Going ampore) sulkin More on NH 34(RHS While Going sumpore) ullimore to Khargram ur toll Gate on NH 34(LHS While Going	Purba Medinipur Murshidabad Murshidabad Bankura South 24 Parganas Nadia Murshidabad Murshidabad Murshidabad Murshidabad	Regular	270 150 150 150 130 100 135 150 150	ST OBC OPEN CC 1 OPEN SC ODEC OPEN	DC DC CFS DC DC DC	35 35 35 20	45 45 45 45 20	1575 1575 1575 1225 400	25 25 25 0	75	Draw of Lots Draw of Lots Draw of Lots Draw of Lots	0 15	5 3 4 5 5 3
10 to 6 82 New Farakka NTPC Mor Via Tildanga (On either Via Tildanga (On either While going from Farakh 683 Ballajur Railway Over While going from Farakh 684 Sarenga on SH Within Diamond Harbon 685 Kamgachi Nadia(On RH: 687 From Kull More Upto M 688 Jasaitala to Madhupur of 689 Omarpur More to More from Farakka to Berham 690 Moregram Bridge to SM Moregram Bridge to SM Moregram Stride Form Farakka to Berham 691 Seyond S Km from Kulli 692 Sukhi More to SHibpur From Farakka to Berham 693 Rasulpur on SH	ore to WB-lharkhand Border on NH-80 er side of Road} er Bridge to Dhulian More on NH 34(RHS obuka to Berhampore) DOUR Municipality (Not on NH/SH) RHS From Ranaghat to Birnagar) MurSHidabad-Birbhum Border on SH-7 er on SH 11 pregram Bridge on NH 34(RHS While Going ampore) ullimore to Khargram ur toll Gate on NH 34(RHS While Going	Murshidabad Murshidabad Bankura South 24 Parganas Nadia Murshidabad Murshidabad Murshidabad Murshidabad	Regular Regular Regular Regular Regular Regular Regular Regular Regular	150 150 130 100 135 150	OBC OPEN CC 1 OPEN SC OBC OPEN	DC DC CFS DC	35 35 35 20	45 45 35 20	1575 1575 1225 400	25 25 0		Draw of Lots Draw of Lots Draw of Lots	15	3 4 5 5 3
682 New Farakka NTPC Mor Via Tildanga (On either Sallalpur Railway Over while going from Farakk 684 Sarenga on SH 685 Within Diamond Marbot 686 Kamgachi Nadia(On RH 687 From Kuli More Upto M 688 Jasaitala to Madhupur 689 Omarpur More to More from Farakka to Berham 690 Moregram Bridge to Sulfrom Farakka to Berham 691 Beyond 5 Km from Kuli 692 Sukhi More to SHibpur From Farakka to Berham 693 Rasulpur on SH	er side of Road) er Bridge to Dhulian More on NH 34(RHS skka to Berhampore) bour Municipality (Not on NH/SH) RHS From Ranaghat to Birnagar) MurSHidabad-Birbhum Border on SH-7 er on SH 11 bregram Bridge on NH 34(RHS While Going ampore) ullimore to Khargram ur toll Gate on NH 34(RHS While Going	Murshidabad Bankura South 24 Parganas Nadia Murshidabad Murshidabad Murshidabad	Regular Regular Regular Regular Regular Regular Regular Regular	150 130 100 135 150	OPEN CC 1 OPEN SC OBC OPEN	DC DC CFS DC	35 35 20	45 35 20	1575 1225 400	25 25 0		Draw of Lots Draw of Lots	15	5 5 3
while going from Faraki 684 Sarenga on SH 685 Within Diamond Harbot 686 Kamgachi Nadia(On RH: 687 From Kuli More Upto M 688 Jasaitala to Madhupur c 689 Omarpur More to More from Farakka to Berham 690 Moregram Bridge to Sul from Farakka to Berham 691 Beyond 5 Km from Kulii 692 Sukhi More to SHibpur From Farakka to Berham	oour Municipality (Not on NH/SH) HS From Ranaghat to Birnagar) MurSHidabad-Birbhum Border on SH-7 or on SH 11 oregram Bridge on NH 34(RHS While going ampore) Sukhi More on NH 34(RHS While Going ampore) Jilimore to Khargram ur toll Gate on NH 34(LHS While Going	Bankura South 24 Parganas Nadia Murshidabad Murshidabad Murshidabad	Regular Regular Regular Regular Regular Regular Regular	130 100 135 150	OPEN SC OBC OPEN	DC CFS DC	35 20	35	1225	25		Draw of Lots		5 3
685 Within Diamond Harboo 686 Kamgachi Nadia(On RH 687 From Kuli More Upto M 688 Jasaitala to Madhupur o 689 Omarpur More to More from Farakka to Berham 690 Moregram Bridge to Su from Farakka to Berham 691 Beyond S Km from Kuli 692 Sukhi More to SHibpur From Farakka to Berham 693 Rasulpur on SH	oour Municipality (Not on NH/SH) RHS From Ranaghat to Birnagar) MurSHidabad-Birbhum Border on SH-7 or on SH 11 oregram Bridge on NH 34(RHS While going ampore) Sukhi More on NH 34(RHS While Going ampore) ullimore to Khargram ur toll Gate on NH 34(LHS While Going	South 24 Parganas Nadia Murshidabad Murshidabad Murshidabad Murshidabad	Regular Regular Regular Regular	100 135 150	SC OBC	CFS DC	20	20	400	0	0		15	5
686 Kamgachi Nadia(On RH: 687 From Kuli More Upto M 688 Jassitala to Madhupur c 689 Omarpur More to More from Farakka to Berham 690 Moregram Bridge to SU from Farakka to Berham 691 Beyond S Km from Kulii 692 Sukhi More to SHibpur From Farakka to Berham 693 Rasulpur on SH	NHS From Ranaghat to Birnagar) MurSHidabad-Birbhum Border on SH-7 or on SH 11 pregram Bridge on NH 34(RHS While going ampore) sukhi More on NH 34(RHS While Going ampore) ullimore to Khargram ur toll Gate on NH 34(LHS While Going	Nadia Murshidabad Murshidabad Murshidabad Murshidabad Murshidabad	Regular Regular Regular Regular	135 150 150	OBC OPEN	DC				0	0	Draw of Lots	0	3
From Kull More Upto M 688 Jasaitala to Madhupur c 689 Omarpur More to More from Farakka to Berham 690 Moregram Bridge to Sul from Farakka to Berham 691 Beyond S Kn from Kull 692 Sukhi More to SHibpur From Farakka to Berham 693 Rasulpur on SH	MurSHidabad-Birbhum Border on SH-7 or on SH 11 pregram Bridge on NH 34(RHS While going ampore) Sukhi More on NH 34(RHS While Going ampore) ullimore to Khargram ur toll Gate on NH 34(LHS While Going	Murshidabad Murshidabad Murshidabad Murshidabad	Regular Regular Regular	150 150	OPEN		35	25						
588 Jasaitala to Madhupur c 689 Omarpur More to More from Farakka to Berham 690 Moregram Bridge to SU from Farakka to Berham 691 Beyond S Km from Kulii 692 Sukhi More to SHibpur From Farakka to Berham 693 Rasulpur on SH	or on SH 11 pregram Bridge on NH 34(RHS While going ampore) Sukhi More on NH 34(RHS While Going ampore) ullimore to Khargram ur toll Gate on NH 34(LHS While Going	Murshidabad Murshidabad Murshidabad	Regular	150		D.C.	1	35	1225	25	60	Draw of Lots	15	4
689 Omarpur More to More from Farakka to Berham 690 Moregram Bridge to Sul from Farakka to Berham 691 Beyond 5 Km from Kuli 692 Sukhi More to SHibpur From Farakka to Berham 693 Rasulpur on SH	oregram Bridge on NH 34(RHS While going ampore) Sukhi More on NH 34(RHS While Going ampore) Jilimore to Khargram ur toll Gate on NH 34(LHS While Going	Murshidabad Murshidabad	Regular		OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
from Farakka to Berham 690 Moregram Bridge to SU from Farakka to Berham 691 Beyond 5 Km from Kulii 692 Sukhi More to SHibpur From Farakka to Berham 693 Rasulpur on SH	ampore) Sukhi More on NH 34(RHS While Going ampore) Illimore to Khargram ur toll Gate on NH 34(LHS While Going	Murshidabad		195	0. 2.4	DC	35	35	1225	25	60	Draw of Lots	15	5
from Farakka to Berham 691 Beyond 5 Km from Kulir 692 Sukhi More to SHibpur From Farakka to Berham 693 Rasulpur on SH	ampore) ulimore to Khargram ur toll Gate on NH 34(LHS While Going		Regular		SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
692 Sukhi More to SHibpur From Farakka to Berhan 693 Rasulpur on SH	ur toll Gate on NH 34(LHS While Going	* # b. Calle be and		190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
From Farakka to Berhan 693 Rasulpur on SH		Murshidabad	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
		Murshidabad	Regular	180	OPEN CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
694 Linto 2 0 Km from Birns		Bankura	Regular	115	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
31 C on LHS	para Chowpati towards Sishubari on NH-	Alipurduar	Regular	174	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
	unakhali More towards Panchanantala	Murshidabad	Regular	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
696 Kagraghat to Kalabagan	an More on SH 11	Murshidabad	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
697 Chapra to Bara Andulia	ia	Nadia	Regular		OBC		35	35	1225	25	60	Draw of Lots	15	4
698 Between SHiv Mandir A	r And Bagdogra on both Sides	Darjeeling	Regular	280	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
699 Deganga to Berachampa		North 24Parganas	Regular		OPEN		35		1225	25	60	Draw of Lots	15	5
700 From Chandpur to Kalar	lara on SH -4 on Ghatal Panskura Road	Paschim Medinipur	Regular	116	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
701 KriSHnanagar to Ghurni	rni	Nadia	Regular	138	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
702 Bahral More to Ratua M		Malda	Regular		OPEN		35		1225	25	60	Draw of Lots	15	5
703 Between Muchipara & (towards Kolkata)	& Gandimore on NH-2 (Left Hand Side	Paschim Bardhaman	Regular	240	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
704 Milki to Niyamatpur on	on SH-10	Malda	Regular	140	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
705 Mejhia to Durlavpur (or	(on NH60)	Bankura	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
706 Balarampur to Malti on		Purulia	Regular		OPEN CC 1				1575	25	75	Draw of Lots	15	5
707 Between Muchipara & 0 towards Kolkata)	& Gandhimore on NH-2 (Right Hand Side	Paschim Bardhaman	Regular	240	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
708 Raghunathganj town (W	(Within Municipality Limit)	Murshidabad	Regular	200	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
709 Dudhia to Mirik		Darjeeling	Regular	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
710 Khaprail More to Simuli	ulbari on SH-12	Darjeeling	Regular	200	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
711 Within Khirpai Municipa	ipality (Not on SH)	Paschim Medinipur	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
712 Haldia City Centre Bus S Balughata Road	s Stop to Kadamtala Bus Stop on	Purba Medinipur	Regular	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
713 Within 6 Km from Joreb	ebunglow to Peshok on SH-12	Darjeeling	Regular	126	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
714 Within 4 Km from Dami	mbar Chowk towards Teesta on SH-12	Kalimpong	Regular	110	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
	NH41 Juction) to Kolghat Bridge on RHS	Purba Medinipur	Regular	215	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
	NH41 Juction) to Kolaghat Bridge on LHS	Purba Medinipur	Regular	218	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
on NH6 717 Within 4 Km of Ratanpu	pur More towards Tarakeshwar on SH 2	Hooghly	Regular	152	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
718 Uttar Bhatibari on SH-13	-12A	Alipurduar	Regular	140	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (www.jocl.com/w

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 24/12/2018.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site		Application fee in Rs.
Regular ROs	CFS	SC/ST	3000	Rural ROs	CFS	SC/ST	2500
	СС	OBC	5000		СС	OBC	4000
	СС	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Territory	Address	Districts Covered	Contact No.
Kolkata	Territory Coordinator (Retail), BPCL, Bharat Bhavan, 1st Floor, Prince Gulam Md. Shah Road, Golf Green, Kolkata, West Bengal, PIN – 700095.	i. Hooghly ii. Howrah iii. Jhargram iv. Kolkata v. Nadia vi.North 24 Parganas vii. Paschim Medinipur viii. Purba Medinipur ix. South 24 Parganas	033-24293460
Durgapur	Territory Coordinator (Retail), BPCL, Rajbandh TOP, Rajbandh Chatty, Durgapur, Dist.: Paschim Bardhman, West Bengal,PIN – 713212.	i. Bankura ii. Paschim Bardhaman iii. Purba Bardhaman iv. Birbhum v.Purulia	0343-2520336 / 2520140
Siliguri	Territory Coordinator (Retail), BPCL, NJP TOP, PO: Bhaktinagar, New Jalpaiguri, Dist.:Jalpaiguri, West Bengal, PIN – 734007.	i. Alipurduar ii. Coochbehar iii. Dakshin Dinajpur iv. Darjeeling v. Jalpaiguri vi. Kalimpong vii. Malda viii. Murshidabad ix. Uttar Dinajpur	0353-269003